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Topic:­ Physics
1)

Question Stimulus :­

A semiconductor has electron concentration density is   and that of
holes is   the semiconductor is: /एक अꘄ�चालक म냿礄 इलḄे雿 ट�ॉन घन㐄 व की सा䐄ं틿 瀄惿ता 

 एव ंहोल की सा䐄ं틿 瀄惿ता   ह,ै तो अꘄ�चालक ह:ै

n­type/n­टाइप

P­type/p­टाइप

Intrinsic/ आतं琄裿रक अꘄ�चालक

p­n­p type/ p­n­p टाइप

Correct Answer :­n­type/n­टाइप 

2)

Question Stimulus :­

A bullet of mass 5 gm moving with velocity 100 m/s and insert in a wooden block up to
6 cm. Approximate average force implies on block by bullet will be: /एक 5 䀀ाम की गोली
100 मी/स ेकी चाल स ेचलत े엿켄ए लकड़ी के एक 倄 लॉक म냿礄 6 समेी तक घसु जाती ह।ै गोली 똄ारा 倄 लॉक पर लगाया गया
औसत बल ह ैलगभग।

8300 Newton /8300 䐄틿 यटून

417 Newton /417 䐄틿 यटून

830 Newton /830 䐄틿 यटून

Zero /श䐄틿 य

Correct Answer :­417 Newton /417 䐄틿 यटून 

3)

Question Stimulus :­

In figure four capacitors are connected in a circuit. Resultant capacitance between point A and
B in μF will be­/चार सधंा琄裿र搄惿 िदय ेगय ेिच搄惿 के अनसुार एक प琄裿रपथ स ेजड़ु ेह।ै A और B  िबदंओु ंके बीच 猄냿भावी धा琄裿रता μF



म냿礄 होगी­

Correct Answer :­  

4)

Question Stimulus :­

Two container of equal volume contain the same gas at pressure p1 and p2 and
absolute temperature T1 and T2 respectively. On joining the vessels the gas

reaches a common pressure P and common temperature T. the ratio   is equal
to: /दो समान आयतन के पा搄惿ो ंम냿礄 एक समान गसै रखी गई ह।ै िजनके दाब 팄मश: p1 एव ंp2 और परम
ताप T1 और T2 ह।ै वािहकाओ ंको आपस म냿礄 जोड़न ेपर गसै सामा䐄틿 य दाब P और सामा䐄틿 य ताप T पर प엿ं켄च

जाती ह ैतब   का अनपुात ह:ै

Correct Answer :­  

5)

Question Stimulus :­



An electron placed in an electric field and experience force equal to its weight. The intensity of
electric field will be: /िवद्युत 偌�搄े惿 म냿礄 रखा एक इलḄे雿 ट�ॉन अपन ेभार के बराबर बल अनभुव करता ह।ै िवद्युत 偌�搄े惿 की
ती踄惿ता होगी:

Correct Answer :­  

6)

Question Stimulus :­

The focal length of two lenses is f1 and f2 respectively and after combination of these a new
lens with focal length F formed. Then F: /यिद दो ल냿礄सो ंकी फोकस दूरी 팄मश: f1 एंव f2 ह ैऔर सयंोजन स ेबने
नवीन ल냿礄स की फोकस दूरी F हो तो:

Correct Answer :­  

7)

Question Stimulus :­

If the velocity a body be doubled then which quantity will be doubled simultaneously: /
यिद िकसी गितशील िप㌄ ड का वगे दोगनुा कर िदया जाव ेतो िकसका मान दोगनुा हो जाता ह:ै

Acceleration/㐄 वरण

Momentum/सवंगे

Kinetic energy/गितज ऊजा�



Weight/ भार

Correct Answer :­Momentum/सवंगे 

8)

Question Stimulus :­

Eight drops of equal radius and charges, form a big drop. The potential of new
drop will be­/सामान ि搄惿倄ा और आवशे की 8 बूँद ेिमलकर एक बड़ी बूँद बनाती ह,ै नई बूँद का िवभव
होगा­

Two times/ दो गनुा

Four times/ चार गनुा

Eight times/ आठ गनुा

Remain same/ अप琄裿रवित�त

Correct Answer :­Four times/ चार गनुा 

9)

Question Stimulus :­

In a moving coil galvanometer the current i is related to the deflection θ is­/एक चल कु猄लीय
धारामापी म냿礄 धारा i का कु猄ली के िव偌�पे θ स ेसबंधं ह­ै

 

Correct Answer :­   

10)

Question Stimulus :­

In Einstein photoelectrical equation   represent: /आइ䐄틿 सटीन के 猄냿काश­
िवद्युत समीकरण   म냿礄   दशा�ता ह:ै

Kinetic energy of all emitted electrons/सभी उ㐄 सज� इलḄे雿 ट�ॉनो ंकी गितज ऊजा�

Maximum kinetic energy of emitted electrons/ उ㐄 सिज�त इलḄे雿 ट�ॉनो ंकी अिधकतम गितज ऊजा�



Average kinetic energy of emitted electrons/ उ㐄 सिज�त इलḄे雿 ट�ॉनो ंकी औसत गितज ऊजा�

Minimum kinetic energy of emitted electrons/ उ㐄 सिज�त इलḄे雿 ट�ॉनो ंकी 䐄틿 यनूतम गितज ऊजा�

Correct Answer :­Maximum kinetic energy of emitted electrons/ उ㐄 सिज�त इलḄे雿 ट�ॉनो ंकी अिधकतम गितज ऊजा� 

11)

Question Stimulus :­

A straight conductor, carrying a current I, is split into a circular loop of radius
‘r’ as shown in the figure. The magnetic field at the centre o of the circle in tesla
is­/एक सीध ेचालाक म냿礄 I धारा 猄냿वािहत हो रही ह,ै जो िच搄惿ानसुार एक ‘r’ ि搄惿倄ा के कु猄ली म냿礄 िवभ踄 हो
जाता ह।ै व脄ृ के क냿礄瀄惿 o पर चुंबकीय 偌�搄े惿 का मान टसेला म냿礄 ह­ै

Zero/शूᄄ

Correct Answer :­Zero/शूᄄ 

12)

Question Stimulus :­

A ball drop from a tower, covers 60 meter distance in last 2 second. The height of
tower is:/ िकसी मीनार स ेिगराई गयी कोई ग냿礄द या搄惿ा के अिंतम 2 सकेंड म냿礄 60 मीटर की दूरी तय करती ह।ै
मीनार की ऊँचाई ह:ै

95 meters/95 मीटर

60 meters/60 मीटर

80 meters/80 मीटर

90 meters/90 मीटर

Correct Answer :­80 meters/80 मीटर 



13)

Question Stimulus :­

If the length of simple pendulum be increased by 1% then its time period will increased by: /
यिद सरल लोलक की लबंाई म냿礄 1% की व甄냿ꘄ कर दी जाव냿礄 तो उसके आवत�काल म냿礄 व甄냿ꘄ होगी:

1%

0.5%

0.7%

2%

Correct Answer :­0.5% 

14)

Question Stimulus :­

Angle between equipotential surface and force line is:/समिवभव प氄ृ ठ और बल रेखाओ ंके बीच कोण होता ह:ै

0o

180o

90o

45o

Correct Answer :­90o 

15)

Question Stimulus :­

Current follow in P­type semiconductors through: / P­猄냿कार के अꘄ�चालको ंम냿礄 धारा का 猄냿वाह होता ह:ै

Electron/इलḄे雿 ट�ॉनो ं똄ारा

Holes/होल 똄ारा

Holes or electron/होल या इलḄे雿 ट�ॉन िकसी के भी 똄ारा

None of these/इनम냿礄 स ेकोई नहीं

Correct Answer :­Holes/होल 똄ारा 

16)



Question Stimulus :­

If a particle have potential energy  then particle stable equilibrium
position will be at: /िकसी कण की 甄냿洄थितज ऊजा�   ह,ै कण की 洄 थायी सतंलुन की 甄냿洄थित
िकस पर होगी:

At x = 0.5/ x = 0.5 पर

At x = 1/ x = 1 पर

At x = 2/ x = 2 पर

At x = 4/ x = 4 पर

Correct Answer :­At x = 1/ x = 1 पर 

17)

Question Stimulus :­

A transformer is used to glow bulb of 140W, 24V from a 240V A.C. mains. The
current in the main cable is 0.7A. The efficiency of the transformer is­/ 240V
मᐄु 猄냿錄ावत� धारा म냿礄 एक ट�ासंफर 140W, 24V के ब欄 को 猄냿कािशत करन ेके िलय ेउपयोग िकया जाता
ह।ै यिद मᐄु तार म냿礄 猄냿वािहत धारा 0.7 ए컿คीयर ह,ै तो ट�ासंफाम�र की 偌�मता ह­ै

63.8%

83.3%

16.7%

36.2%

Correct Answer :­83.3% 

18)

Question Stimulus :­

The ratio of both specific heat   for diatomic molecular gas is: /ि똄परमािणक गसै

अणओु ंके िलय ेदोनो ंिविश氄 ठ ऊ氄 माओ ंका अनपुात   ह:ै

1.4

1.5

1.6



Correct Answer :­1.4 

19)

Question Stimulus :­

To find maximum horizontal range, the angle of projection will be equal to: /अिधकतम 偌�िैतज परास पान ेके िलय े猄냿偌�पेण कोण
का मान बराबर होगा:

30o

60o

45o

90o

Correct Answer :­45o 

20)

Question Stimulus :­

Franhofer lines is example of following: /琄냿ानँहोफर रेखाएँ िन各 न म냿礄 स ेिकसका उदाहरण ह:ै

Continuous spectrum/सतत ्洄 पḄे雿 ट�म

Band spectrum/ब㌄ै ड 洄 पḄे雿 ट�म

Emission spectrum/उ㐄 सज�न 洄 पḄे雿 ट�म

Absorption spectrum/अवशोिषत 洄 पḄे雿 ट�म

Correct Answer :­Absorption spectrum/अवशोिषत 洄 पḄे雿 ट�म 

21)

Question Stimulus :­

The rest energy of an electron is 0.511 MeV. The electron is accelerated from rest to a velocity
0.5c. The change in its energy will be: /एक इलḄे雿 ट�ॉन की िवराम अव洄 था म냿礄 ऊजा� 0.511 MeV ह।ै इलḄे雿 ट�ॉन को
िवराम स े0.5c वगे स े㐄 व琄裿रत िकया जाता ह ैतो उसकी ऊजा� म냿礄 प琄裿रवत�न होगा:

0.026 MeV

0.051 MeV

0.079 MeV



0.105 MeV

Correct Answer :­0.079 MeV 

22)

Question Stimulus :­

If L and R represent inductance and resistance respectively. Which of the
following has the dimension of frequency. /यिद L और R 팄मशः 猄냿रेक霄 और 猄냿ितरोध को
दशा�त ेह,ै तो िन퟿଄ म냿礄 कौन­सा आकृित का मानक होगा­

Correct Answer :­  

23)

Question Stimulus :­

For two springs, the force constant are k1 and k2 respectively. If they are stretch in
such a manner where both will have equal potential energy then the ratio of force
implies (f1 and f2) on them will be: /दो 甄냿渄गंो ंके बल िनयताकं 팄मश: k1 और k2 ह।ै यिद इ䐄틿 ह ेइतना
खीचंा जाना ह ैिक दोनो ंकी 甄냿洄थितज ऊजा�एँ समान हो जाय ेतब उन पर लगाय ेगय ेबलो ंf1 और f2 का अनपुात होगा:

Correct Answer :­  

24)

Question Stimulus :­



E.m.f. generate by electro­magnetic induction is free from­/ िवद्युत चुंबकीय 猄냿रेण म냿礄 猄냿琄े裿रत िव.वा.बल िन퟿଄
स े瘄裿त搄ं惿 होता ह­ै

Change in flux/ 甄過翰 म냿礄 प琄裿रवत�न

Time/ समय

Number of Turns/ फेरो ंकी सᐄंा

Coil resistance/ कु猄ली की 猄냿ितरोधकता

Correct Answer :­Coil resistance/ कु猄ली की 猄냿ितरोधकता 

25)

Question Stimulus :­

The force between two equal masses body is F. If 25% of mass is transfer from
one body to other body then the new force between them will be­/दो सामान
瀄惿퟿褄मानो ंके िपडंो ंके बीच लगन ेवाला बल F ह।ै यिद 25% 瀄惿퟿褄मान एक िपडं स ेदूसरे िपडं म냿礄 洄थानातं琄裿रत
कर िदया जाय,े तो नया बल होगा­

Correct Answer :­  

26)

Question Stimulus :­

Five cells each of emf E, are joined in parallel. The total emf of the combination
is­/पाचँ सले, 猄냿錄के िवद्युत वाहक बल (emf) E को समातंर म냿礄 जोड़ा जाता ह,ै सयंोजन का कुल emf ह­ै

5E

E/5

E

E/2



Correct Answer :­E 

27)

Question Stimulus :­

Focal length of a lens in air is 30 cm. If an object is placed 10 cm away from its first focal
length, then image of object will be formed other side of lens at the distance of: /एक ल�स की
फोकस दूरी वाय ुम냿礄 30 समेी ह।ै इसके 猄냿थम फोकस तल स े10 समेी दूरी पर एक व洄 त ुरखी ह।ै व洄 त ुका 猄냿ितिब各 ब ल�स के दूसरी
ओर ल�स स ेिकतनी दूरी पर बनगेा:

120 cm/ 120 समेी

60 cm/60 समेी

30 cm/ 30 समेी

10 cm/10 समेी

Correct Answer :­120 cm/ 120 समेी 

28)

Question Stimulus :­

As  figure,  the  frequency  of  the  normal mode  of  vibration  of  the  given  spring mass m  is  :/m
瀄惿椄 यमान की िकसी 甄냿渄गं का िदय ेगय ेिच搄惿ानसुार सामा䐄틿 य 洄 पदंन की आविृत ह:ै

Correct Answer :­  

29)



Question Stimulus :­

Dimensional formula of moment of inertia is: /जड़㐄 व आघणू� का िवमीय स搄ू惿 ह:ै

Correct Answer :­  

30)

Question Stimulus :­

The formula of modulus of rigidity is: /ᴄ雿ढ़ता गणुाकं का श搄惿 ह:ै

Correct Answer :­  

Topic:­ Chemistry
1)

Question Stimulus :­

Red Lead is­/ लाल लडे होता ह­ै

Pb3O4

PbO

PbO2

Pb2O3



Correct Answer :­Pb3O4 

2)

Question Stimulus :­

The IUPAC name of gammaxene is­/ गमै過े翰ने का नाम ह­ै

Benzene Hexa Chloride/ ब䐄े틿जीन ह過े翰ा ＃ोराइड

Hexo Chloro Benzene/ ह過े翰ा ＃ोरो ब䐄े틿जीन

1, 2, 3, 4, 5, 6­ Hexa Chloro Cyclohexane/1, 2, 3, 4, 5, 6­ ह過े翰ा ＃ोरो साइ＃ोह過े翰ने

1, 2, 3, 4, 5, 6­ Hexa Chloro Benzene/ 1, 2, 3, 4, 5, 6­ ह過े翰ा ＃ोरो ब䐄े틿जीन

Correct Answer :­1, 2, 3, 4, 5, 6­ Hexa Chloro Cyclohexane/1, 2, 3, 4, 5, 6­ ह過े翰ा ＃ोरो
साइ＃ोह過े翰ने 

3)

Question Stimulus :­

Which one is example of 8:8 co­ordination?/ िन퟿଄ािंकत म냿礄 स े8:8 कोऑड�नशेन का उदाहरण ह­ै

CaF2

CsCl

ZnS

KCl

Correct Answer :­CsCl 

4)

Question Stimulus :­

Oxidation state of Fe in K4 [Fe(CN)6] is­/ K4 [Fe(CN)6] म냿礄 Fe की ऑ過翰ीकरण अव洄था ह­ै

+6

+2

+4

+3

Correct Answer :­+2 



5)

Question Stimulus :­

Acidic hydrogen is present in­/ अ쫿┄ीय हाइड�ोजन िन퟿଄ म냿礄 उप甄냿洄थत होता ह­ै

Ethyne/ एथाइन

Ethene/ ईिथन

Ethane/ इथने

Benzene/ ब냿礄ज़ीन

Correct Answer :­Ethyne/ एथाइन 

6)

Question Stimulus :­

Which method of purification is represented by the following equation? / िन퟿଄िल甄냿खत
समीकरण स ेशोधन की कौन­सी िविध 猄냿कट होती ह­ै

 

Polling/ पोिलगं

Bessemerisation/ बसेमेरीकरण

Cupellation/ ︃पूलेीकरण

Van Arkel de Boer method/ वने आक냿稄ल ड ेबोअर िविध

Correct Answer :­Van Arkel de Boer method/ वने आक냿稄ल ड ेबोअर िविध 

7)

Question Stimulus :­

The reaction at 400oC – 600oC during smelting of iron in blast furnace­/ लोह ेके 猄냿गलन म냿礄
वा錄ा भ崄ी म냿礄 400oC – 600oC पर िन퟿଄ अिभि팄या होती ह­ै

FeO + SiO2 → FeSiO3

CaO + SiO2 → CaSiO3

FeS + O2 → Fe + SO2



Fe2O3 + 3CO → 2Fe + 3CO2

Correct Answer :­Fe2O3 + 3CO → 2Fe + 3CO2 

8)

Question Stimulus :­

Which among the following is used to differentiate between ethylene and acetylene?/
िन퟿଄ािंकत म냿礄 स ेकौन­सा 猄냿ितकारक एिथलीन एव ंऐसिेटलीन के बीच िवभदे करन ेके िलए 猄냿यु踄 ह?ै

Bromine water/甄裿ोमीन जल

Alkaline KMNO4/ 偌�ारीय KMNO4

Conc H2SO4/ सा瀄ं惿 H2SO4

Ammonical cuprous chloride/ अमोिनयामय ︃猄ू냿स ＃ोराइड

Correct Answer :­Ammonical cuprous chloride/ अमोिनयामय ︃猄ू냿स ＃ोराइड 

9)

Question Stimulus :­

Atomic mass is the addition of­/ आ甄냿砄क भार योग होता ह­ै

Proton + Neutron/ 猄냿ोटॉन + ᄄटू�ॉन

Only proton/ िसफ� 猄냿ोटॉन

Only electron/ केवल इले瘄�ॉन

Proton + electron/ 猄냿ोटॉन + इले瘄�ॉन

Correct Answer :­Proton + Neutron/ 猄냿ोटॉन + ᄄटू�ॉन 

10)

Question Stimulus :­

Anti­Markownikoff’s addition is not found in­/ 猄냿ित माक�नीकॉफ सकंलन िन퟿଄ म냿礄 नही ंपाया जाता ह­ै

Propene/ 猄냿ोपीन

Butene­1/ 볿뜄टूीन­1

Butene­2/ 볿뜄टूीन­2



Pentene­1/ पेीन­1

Correct Answer :­Butene­2/ 볿뜄टूीन­2 

11)

Question Stimulus :­

Which among the following pairs is not correctly matched?/ िन퟿଄िल甄냿खत य☄ुो ंम냿礄 स ेकौन­सा
सही समुिेलत नही ंह?ै

Bohr­Isotope/ बोहर­सम洄थािनक

Rutherford­Proton/ रदरफोड�­猄냿ोटॉन

J. Chadwick­Neutron/ ज.ेचडैिवक­ᄄटू�ॉन

J.J. Thomson­Electron/ ज.ेज.े टॉमसन­इले瘄�ॉन

Correct Answer :­Bohr­Isotope/ बोहर­सम洄थािनक 

12)

Question Stimulus :­

Casseterite is an ore of­/ केिसटरेाइट अय伄 ह­ै

Tin/ िटन का

Zinc/ िज़कं का

Lead/ लडै का

Copper/ ताबँ ेका

Correct Answer :­Tin/ िटन का 

13)

Question Stimulus :­

∆G (Free energy) for a spontaneous reaction is­/िकसी 瘄裿तः 猄냿ि팄या के िलय े∆G (मु踄 ऊजा�) ह­ै

Negative/ऋणा踄क

Positive/धना踄क

Zero/शूᄄ

Infinite/अन



Correct Answer :­Negative/ऋणा踄क 

14)

Question Stimulus :­

Which has pH less than 7 in aqueous solution?/ िकस जलीय िवलयन की pH 7 स ेकम ह?ै

FeCl3 

NaCN

KNO3

NaOH

Correct Answer :­KNO3 

15)

Question Stimulus :­

Which of the following has minimum bond angle?/ िकसम냿礄 बधं कोण ᄄनूतम ह?ै

H2S

NH3

CH4

H2O

Correct Answer :­H2S 

16)

Question Stimulus :­

In which of the following gas is also known as Inert gas?/ िन퟿଄ म냿礄 स ेकौन­सी गसै अि팄य गसै के
नाम स ेभी जानी जाती ह?ै

Cl

F

O2

Xe



Correct Answer :­Xe 

17)

Question Stimulus :­

Reaction order of a radioactive disintegration reaction is­/ रेिडयोधम� 偌�य ि팄या की अिभि팄या
कोिट होती ह­ै

Two/ दो

Four/ चार

One/ एक

Three/ तीन

Correct Answer :­One/ एक 

18)

Question Stimulus :­

Formula of dichloro bis (urea) copper (II) is­/डाइ＃ोरो िबस (य琄ू裿रया) कॉपर (II) का स搄ू惿 ह­ै

None/ कोइ नहीं

Correct Answer :­  

19)

Question Stimulus :­

Hydrogen bomb is an example of?/ हाइड�ोजन बम िन퟿଄ म냿礄 स ेिकसका उदाहरण ह?ै

Nuclear fusion/ नािभकीय सलंयन

Nuclear fission/ नािभकीय िवखडंन

Chemical reaction (ordinary)/ रासायिनक अिभि팄या (सामाᄄ)

None of these/ इनम냿礄 स ेकोई नहीं

Correct Answer :­Nuclear fusion/ नािभकीय सलंयन 



20)

Question Stimulus :­

Which is the smallest cation among the following?/ िन퟿଄िल甄냿खत म냿礄 सबस ेछोटा धनायन ह?ै

Al3+

Mg2+

Na+

Ca2+

Correct Answer :­Al3+ 

21)

Question Stimulus :­

If boiling point of solution is T1 and of solvent is T2 then the elevation in boiling point
is­/यिद िवलयन का ၎翰थनाकं T1 तथा िवलायक का ၎翰थनाकं T2 हो, तो ၎翰थनाकं म냿礄 उ⬀यन होगा­

T1 + T2

T1 – T2

T2 – T1

T2 + T1

Correct Answer :­T1 – T2 

22)

Question Stimulus :­

On mixing equal volume of two buffer solutions of pH value 3 and 5. The pH of the
resultant solution will be­/ pH 3 एव ं5 के दो बफर िवलयनो ंके समान आयतन िमलान ेपर प琄裿रणामी िवलयन
की pH होगी­

4.7

4.0

3.3

5.3



Correct Answer :­3.3 

23)

Question Stimulus :­

Equation   In Kaq is called­/   Kaq, यह समीकरण कहलाता ह­ै

Nernst equation/ न∄� समीकरण

Gibbs equation/िग밄 समीकरण

Gibbs Helmholtz equation / िग밄 है洄हो퟿匄ज् समीकरण

Van der Waal’s equation/ वाडंर वा琄 समीकरण

Correct Answer :­Nernst equation/ न∄� समीकरण 

24)

Question Stimulus :­

The monomer of Nylon 66 is­/ नायलॉन­ 66 एकलक ह­ै

Styrene/ 各ाइरीन

Isoprene/ आइसो猄냿ीन

CICH = CH2

1, 6­diamino hexane and 1, 6­hexane dioic acid/1, 6­डाइऐमीनो ह過े翰ने तथा 1, 6­ह過े翰ने
डाइओइक अ쫿┄

Correct Answer :­1, 6­diamino hexane and 1, 6­hexane dioic acid/1, 6­डाइऐमीनो ह過े翰ने
तथा 1, 6­ह過े翰ने डाइओइक अ쫿┄ 

25)

Question Stimulus :­

The configuration is­/ रासायिनक िवᄄास ह­ै

Laevo isomer/लीवो समावयव

Dextro isomer/ ड過े翰टो समावयव



Trans isomer/ ट�ासं समावयव

Cis isomer/ िसस समावयव

Correct Answer :­Trans isomer/ ट�ासं समावयव 

26)

Question Stimulus :­

Example of protein is?/ 猄냿ोटीन का एक उदाहरण ह?ै

Cafaline/ केफेिलन

Lesithine/ लसेिेथन

Insuline/ इ℄िुलन

None of these/ इनम냿礄 स ेकोई नहीं

Correct Answer :­Insuline/ इ℄िुलन 

27)

Question Stimulus :­

Most important energy carrier in living cells is­/ जीिवत कोिशकाओ ंम냿礄 सबस ेमह霄पणू� ऊजा� सवंाहक
ह­ै

ADP

TTP

ATP

None of these/ इनम냿礄 स ेकोई नहीं

Correct Answer :­ATP 

28)

Question Stimulus :­

In a chemical reaction at 300 K temperature ∆H = 150 kJ and ∆S = 100 JK­1, then ∆G
is­/ रासायिनक अिभि팄या म냿礄 यिद 300 K तापमान पर ∆H = 150 kJ और and ∆S = 100 JK­1 ह,ै तो ∆G
होगा­

300 kJ

120 kJ



333 kJ

200 kJ

Correct Answer :­120 kJ 

29)

Question Stimulus :­

The product obtained at cathode on electrolysis of dilute H2SO4 using platinum
electrode is­/億िेटनम इले瘄�ोड 똄ारा तन ुH2SO4 का िवद्युत­अपघटन करन ेस ेकैथोड पर 猄냿ा㌄ होता ह­ै

SO2

O2

H2

NH3

Correct Answer :­H2 

30)

Question Stimulus :­

A black sulphide when reacts with ozone becomes white, the white compound is­/ एक
काला स樄ाइड जब ओजोन के साथ ि팄या करता ह,ै तो सफ़ेद हो जाता ह।ै सफ़ेद यौिगक ह­ै

BaSO4

PbSO4

ZnSO4

CaSO4

Correct Answer :­PbSO4 

Topic:­ Botany
1)

Question Stimulus :­

Which group of bacteria is known as Ray­fungus? / जीवाणओु ंके िकस समहू को र甄냿컿꼄 कवक
(Ray­fungus) कहा जाता ह­ै

Mycobacteria/ माइकोबㄶै㤱ी〼੭रया



Mycobacteria/ माइकोबㄶै㤱ी〼੭रया

Mycoplasma/ माइको㐠ㄭाꚥ䈀ा

Actinomycetes/ एㄶ㤱ीनोमाइिसटीज

Myxobacteria/ िम吠㠱ोबㄶै㤱ी〼੭रया

Correct Answer :­Actinomycetes/ एㄶ㤱ीनोमाइिसटीज 

2)

Question Stimulus :­

The cellulose of plant cell wall is made up of­/ पादप कोिशका िभि脄 म냿礄 पाया जान ेवाला सै渄लुोज
बना होता ह­ै

–glucose/ ­⨄कूोज से

–glucose/ –⨄कूोज से

Galactose/ गलैे瘄ोज से

Fructose /琄냿瘄ोज से

Correct Answer :­ –glucose/ –⨄कूोज स े

3)

Question Stimulus :­

Which of the following is a monocarpic plant?/ िन퟿଄िल甄냿खत म냿礄 स ेमोनोकािप�क पौधा कौन­सा ह?ै

Grape/ अगंरू

Banana/ केला

Mango/ आम

Pomegranate/ अनार

Correct Answer :­Banana/ केला 

4)

Question Stimulus :­

For synthesis of one glucose molecule, the number of ATP required are­/⨄कूोज
के एक अण ुके सं됄षेण के िलय ेATP के िकतन ेअणओु ंकी आव㔄कता होती ह­ै



9 ATP for C3 cycle and 20 ATP for C4 cycle/ C3 च팄 म냿礄 9 ATP तथा C4
च팄 म냿礄 20 ATP

18 ATP for C3 cycle and 30 ATP for C4 cycle/ C3 च팄 म냿礄 18 ATP तथा C4
च팄 म냿礄 30 ATP

22 ATP for C3 cycle and 35 ATP for C4 cycle/ C3 च팄 म냿礄 22 ATP तथा C4
च팄 म냿礄 35 ATP

24 ATP for C3 cycle and 36 ATP for C4 cycle/ C3 च팄 म냿礄 24 ATP तथा C4
च팄 म냿礄 36 ATP

Correct Answer :­18 ATP for C3 cycle and 30 ATP for C4 cycle/ C3 च팄 म냿礄 18 ATP
तथा C4 च팄 म냿礄 30 ATP 

5)

Question Stimulus :­

In ferns, xylem is­/ फन� म냿礄 जायलम होता ह­ै

Exarch/ ए甄ाक�

Mesarch/ मीसाक�

Endarch/ ए猄ाक�

Polyarch पॉलीआक�

Correct Answer :­Mesarch/ मीसाक� 

6)

Question Stimulus :­

A pigment which absorbs red and far­red light is­/वह वण�क जो लाल एव ंदूर洄थ लाल 猄냿काश
अवशोिषत करता ह,ै कहलाता ह­ै

Phytochrome/ फायटो팄ोम

Carotene/ कैरोटीन

Cytochrome/ सायटो팄ोम

Xanthophyll/ जैोिफल

Correct Answer :­Phytochrome/ फायटो팄ोम 



7)

Question Stimulus :­

The condition where filaments and anthers are fused throughout the entire length is­/
ऐसंी अव洄था िजसम냿礄 िफलाम냿礄ट (पतु)ु और ऐथंर (परागकोष) अपनी परूी लငाई तक जड़ु ेरहत ेह�, होत ेह�­

Synandrous/ िसननेड�स

Gynadrous/ गायननेड�स

Protandrous/ 猄냿ोटनेड�स

Syngenesius/ िसनजनेिेसयस

Correct Answer :­Synandrous/ िसननेड�स 

8)

Question Stimulus :­

Heterostyly is show by­/ िवषम वित�का霄 )िहटरो各ाइली (िकसके 똄ारा 猄냿दिष�त होता ह­ै

Primula/ ि猄냿मलुा

Mirabilis/ िमरािबिलस

Helianthus/ हिेलएस

China rose/ चायना रोज

Correct Answer :­Primula/ ि猄냿मलुा 

9)

Question Stimulus :­

Secretion of Somatotrophic hormone and Thyrotrophin appear to be­/ सोमटेोट�ॉिफक हॉम�न
तथा थायरोट�ॉिपन हॉम�न 朄ावण होता ह­ै

Lysosome controlled/लायसोसोम के 똄ारा िनयिं搄惿त

E.R. controlled/ ए猄ो億ा甄냿伄क रेटीकुलम के 똄ारा िनयिं搄惿त

Golgi body controlled/ गॉ퟿億ी बॉडी के 똄ारा िनयिं搄惿त

None of these/ उपरो踄 म냿礄 स ेकोई नहीं

Correct Answer :­Golgi body controlled/ गॉ퟿億ी बॉडी के 똄ारा िनयिं搄惿त 



10)

Question Stimulus :­

Which of the following is directly affected by deficiency of Fe?/ िन퟿଄ म냿礄 स ेकौन­सी
猄냿ि팄या लौह के अभाव स ेसीधी 猄냿भािवत होती ह?ै

Glycolysis/ ⨄ाइकोिलिसस

Calvin cycle/ कै甄냿爄न च팄

DPD of cell/ कोिशका का DPD 圄र

Oxidative photophosphorylation/ ऑ過翰ीडिेटव फॉ漄ो琄裿रलीकरण

Correct Answer :­Oxidative photophosphorylation/ ऑ過翰ीडिेटव फॉ漄ो琄裿रलीकरण 

11)

Question Stimulus :­

A female gametangium of bryophyte differs from that of fungus in possessing­/
甄裿ायोफाइटा के मादा गमेीट甄े냿䐄틿जया, कवक के मादा गिेमट甄े냿䐄틿जया स ेिभ⬀ ह�, िन퟿଄ ल偌�णो ंम냿礄­

Large neck/ लाज� नके

A venter/ वेर

Jacket layer with sterile cells/ ब कोिशकाओ ंयु踄 जकैेट पत�

A single egg cell/ एक अ猄 कोिशका

Correct Answer :­Jacket layer with sterile cells/ ब कोिशकाओ ंयु踄 जकैेट पत� 

12)

Question Stimulus :­

Electron transport system in mitochondria is located in­/ माइटोकॉ甄냿猄�या म냿礄 इले瘄�ॉन अिभगमन
त搄ं惿 甄냿洄थत ह­ै

Outer membrane/ बाहरी िझ漄ी म냿礄

Inter­cristae space/ अतंरि팄各ी 洄थान म냿礄

Inner membrane/ आ琄裿रक िझ漄ी म냿礄

Inner membrane space/ आ琄裿रक िझ漄ी 洄थान



Correct Answer :­Inner membrane/ आ琄裿रक िझ漄ी म냿礄 

13)

Question Stimulus :­

The bacteria which lacks flagella and moves by gliding are included in­/ऐस ेजीवाण ुिजनम냿礄
甄जैलेा अनपु甄냿洄थत होत ेह� और जो ⨄ाइिडगं 똄ारा गित करत ेह�, को िकस समहू म냿礄 रखत ेह�

Spirochaetes 洄ाइरोकीटस्

Rickettsia 琄裿रकेटि्सया

Myxobacteria/ िम過翰ोबै瘄ी琄裿रया

Eubacteria/ यबूै瘄ी琄裿रया

Correct Answer :­Myxobacteria/ िम過翰ोबै瘄ी琄裿रया 

14)

Question Stimulus :­

Leaf gap in the vascular cylinder in ferns is­/ फन� के वा伄लर िसलेर म냿礄 लीफ गपै होता ह­ै

Air space/ एयर 洄से

Parenchymatous zone/ परेेनकायमटेस् 偌�搄े惿

Collenchymatous zone/ कोलनेकायमटेस् 偌�搄े惿

Area exclusively of phloem/ परूी तरह स े甄ोयम 偌�搄े惿

Correct Answer :­Parenchymatous zone/ परेेनकायमटेस् 偌�搄े惿 

15)

Question Stimulus :­

Pollen embryoids were discovered by­/ पोलन ए甄냿ጄयोइडस्’ की खोज की­

Guha and Maheshwari /गहुा तथा माहे뜄री ने

Steward and White /各ीवड� तथा 倄हाइट ने

Konar and Natraja /कोनार तथा नटराजा ने

Nitsch and Skoog/ िन鐄 तथा 伄ग ने

Correct Answer :­Guha and Maheshwari /गहुा तथा माहे뜄री न े



16)

Question Stimulus :­

DNA synthesis can be specifically measured by estimating the incorporation of radio­
labelled­/ सं됄षेण का अनमुान िकसके रेिडयोसि팄य 猄냿वशे 똄ारा िकया जाता ह­ै

Uracil/ यरूेिसल

Adenine/ एडीनाइन

Thymidine/ थायिमडीन

Deoxyribose sugar/ डीऑ過翰ीराइबोज शक�रा

Correct Answer :­Thymidine/ थायिमडीन 

17)

Question Stimulus :­

Why bacteria do not survive in the salt pickle which has high salt contents?/ जीवाण ुजो
अिधक नमक वाल ेअचार म냿礄 जीिवत नही ंरहत,े ︃ोिंक­

Salt retards the rate of reproduction of bacteria/ नमक के कारण जीवाण ुम냿礄 जनन की दर कम
हो जाती है

Bacteria do not get light for photosynthesis/ जीवाण ु猄냿काश सं됄षेण के िलय े猄냿काश 猄냿ा㌄ नहीं
कर पाते

Due to plasmolysis bacteria die/ 億ा伄ोलाइिसस के कारण बै瘄ी琄裿रया मर जात ेह�

Essential elements for bacterial viability are not present in the pickle/ बै瘄ी琄裿रया के
जीिवत रहन ेके िलय ेपदाथ� अचार म냿礄 नही ंपाया जाता है

Correct Answer :­Due to plasmolysis bacteria die/ 億ा伄ोलाइिसस के कारण बै瘄ी琄裿रया मर जाते
ह� 

18)

Question Stimulus :­

How many different types of gametes can be formed by   progeny, resulting
from the following cross:/ िन퟿଄ िदय ेगय े팄ास के प琄裿रणाम瘄裿�प सतंित 똄ारा िकतन ेिविभ⬀ 猄냿कार
के य☄ुक का िनमा�ण हो सकता है

AA BB CC × aa bb cc

3



8

27

64

Correct Answer :­8 

19)

Question Stimulus :­

Match List I and List II and select the correct answer using the code given below in the
lists :/ सचूी I और II का मले कीजीए और सकंेतवली का 猄냿योग करत े엿켄ए सही उ脄र चिुनए­

 
List I (Enzyme)/

ए䐄틿जाइम

List II (Enzyme
function)/

ए䐄틿जाइम का काय�

1. Ligase/ लाइगजे
Joins short segments of
DNA together/ डी.एन.ए. के
छोट ेख�ो ंको जोड़ता है

2. DNA polymerase/डी.एन.ए. पोिलमरेेज      

Cuts DNA at specific DNA
sequence/ िविश� डी.एन.ए.
�म पर डी.एन.ए को काटता है

3. Helicase/ हलेीकेज     

Breaks the hydrogen
bonds between
complementary pairs
during DNA replication/
डी.एन.ए. रे�ीकेशन के समय
परूक य�ुो ंके बीच हाइड�ोजन बधंन
को तोड़ता

Code:/ सकंेतावली

1, 2 and 3 are correct/ 1, 2 और 3 स錄 ह�

1 and 2 are correct, 3 is false/ 1 और 2 स錄 ह�ए 3 अस錄 है

1 is correct, 2 and 3 are false/ 1 स錄 हएै 2 और 3 अस錄 है

1 and 3 are correct, 2 is false/ 1 और 3 स錄 हएै 2 अस錄 है

Correct Answer :­1 and 3 are correct, 2 is false/ 1 और 3 स錄 हएै 2 अस錄 ह ै

20)



Question Stimulus :­

From a cross AABb × aaBb, the genotypes AaBB : AaBb : Aabb : aabb will be
obtained in the following ratio­/ एक AABb × aaBb, इसका जीनोटाइप AaBB : AaBb :
Aabb : aabb ह,ै य ेिन퟿଄ अनपुात म냿礄 猄냿ा㌄ होगं냿礄­

1 : 1 : 1 : 1

1 : 2 : 1 : 0

0 : 3 : 1 : 0

1 : 1 : 1 : 0

Correct Answer :­1 : 2 : 1 : 0 

21)

Question Stimulus :­

The plant which has also been known in India as 'Pagal ki dava'­/ िन퟿଄ म냿礄 स ेकौन­सा पौधा
भारत म냿礄 ‘पागल की दवा’ के नाम स ेजाना जाता ह­ै

Sarpagandha/ सप�गा

Mulathi/ मलुठेी

Indrayan/ इायन

Harjori/ हरजोरी

Correct Answer :­Sarpagandha/ सप�गा 

22)

Question Stimulus :­

Mud­ball technique for rice cultivation has been proposed by­/ चावल की खतेी के िलय ेपकं­गोल
(मड­ बॉल) तकनीक का उपयोग िकसन ेआर쫿℄ िकया­

IARI, New Delhi/ IARI, नई िद漄ी

IRRI, Philippines/ IRRI, िफलीपी℄

CRRI, Cuttack/ CRRI, कटक

CSIR, New Delhi/ CSIR, नई िद漄ी

Correct Answer :­IRRI, Philippines/ IRRI, िफलीपी℄ 



23)

Question Stimulus :­

Slow respiring plants or plant tissues are­/ म गित स े뜄सन करन ेवाल ेपादप अथवा पादप ऊतक
कौन­स ेह�­

Promeristems/ 猄냿ाक िवभ倄ो脄क

Cambium/ कै甄냿ငयम

Leaf primordia and young plant/ प搄惿 आ댄क एव ंत�ण पौधे

Adult plants and matured tissues/ 猄냿ौढ़ पौध ेएव ंप琄裿रप၎翰 ऊतक

Correct Answer :­Adult plants and matured tissues/ 猄냿ौढ़ पौध ेएव ंप琄裿रप၎翰 ऊतक 

24)

Question Stimulus :­

Mendel's law were first published in the year­/ म猄ेल के िनयम सव�猄냿थम िकस वष� 猄냿कािशत 엿켄य­े

1875

1890

1928

1866

Correct Answer :­1866 

25)

Question Stimulus :­

The diagram representing karyotype of a species is called­/ वह िच搄惿 िजसके 똄ारा एक जाित का
के琄裿रयोटाइप ퟿褄踄 िकया जाता ह,ै कहलाता ह­ै

Idiograph/ इिडयो䀀ाफ

Idiotype/ इिडयोटाइप

Idiogram/ इिडयो䀀ाम

All the above/उपरो踄 सभी

Correct Answer :­Idiogram/ इिडयो䀀ाम 



26)

Question Stimulus :­

Which of the following is the best explanation for the early discovery of Nuclei?/
ᄄ甄ू냿＃याई की पवू� खोज के सင म냿礄 िन퟿଄ म냿礄 स ेकौन­सा 洄끏俰ीकरण 鐄裿ᄄे뇿 ह­ै

Nucleus is more important than cytoplasm/ ᄄ甄ू냿＃यस सायटो億ा伄 की तलुना म냿礄 अिधक
मह霄पणू� है

The nucleus is a visible body while cell theory was absolute generalization /
ᄄ甄ू냿＃यस सᴄ雿㔄 बॉडी ह ैजबिक कोिशका िसꘄा पणू�तः जनरलाइजशेन है

Nuclei are stained darker than other cell organelles/ ᄄ甄ू냿＃याई अᄄ कोिशकीय भागो ंकी
तलुना म냿礄 गहरे रंिजत होत ेहै

 

The English scientists had better microscopes than other/ अं䀀जे व䘄ैािनको ंके पास अᄄ
की तलुना म냿礄 अ㤄 ेस恎ू翰दश� थे

Correct Answer :­Nuclei are stained darker than other cell organelles/ ᄄ甄ू냿＃याई अᄄ
कोिशकीय भागो ंकी तलुना म냿礄 गहरे रंिजत होत ेह ै  

27)

Question Stimulus :­

Which of the following plant species shows exception for the “cell theory”?/ िन퟿଄ म냿礄 से
कौन­सी पादप जाित “कोिशका िसꘄा” का अपवाद ह?ै

Sargassum/ सारगसैम

Valonia/ वलेोिनआ

Vaucheria/ वाउच琄裿रया

Ulva/ अ爄ा

Correct Answer :­Vaucheria/ वाउच琄裿रया 

28)

Question Stimulus :­

Secondary cells can't divide because­/ ि똄तीयक कोिशकाओ ंको िवभािजत नही ंिकया जा सकता ह,ै
︃ोिंक

They lose the ability to divide/ इनम냿礄 िवभाजन की 偌�मता कम होती है



They do not have nucleus/ इनम냿礄 केक नही ंपाया जाता है

They undergo certain irreversible changes during differentiation/ इनम냿礄 िवभदेीकरण के
दौरान िनि鐄त अन笄ुमणीय प琄裿रवत�न होत ेह�

All of the above/ उपरो踄 म냿礄 स ेसभी

Correct Answer :­All of the above/ उपरो踄 म냿礄 स ेसभी 

29)

Question Stimulus :­

Division of cytoplasm after meiotic divisions in pollen mother cells is known as­/ पराग
मातकृोिशका म냿礄 अध�स搄ू惿ी िवभाजन के प鐄ात ्कोिशका 瀄惿퟿褄 का िवभाजन कहलाता ह­ै

Cytomixis/सायटोिम甄냿過翰स

Apomixis/एपोिम甄냿過翰स

Cytokinesis/सायटोकायनिेसस

Amphimixis/ए各फीिम甄냿過翰स

Correct Answer :­Cytokinesis/सायटोकायनिेसस 

30)

Question Stimulus :­

For each molecule of glucose formed in plants, the number of molecule of ATP
and NADPH2 required are respectively­/ पौधो ंम냿礄 उ蜄⬀ होन ेवाल े猄냿錄के ⨄कूोज के अण ुके
िलय ेATP और NADPH2 के अणओु ंकी सᐄंा 팄मशः आव뀄क होती ह­ै

12 and 18/ 12 और 18

18 and 12/18 और 12

15 and 10/15 और 10

3 and 22/3 और 22

Correct Answer :­18 and 12/18 और 12 

Topic:­ Zoology
1)

Question Stimulus :­

Agar­Agar is obtained from­/ऐगार­ऐगार 猄냿ा㌄ होता ह­ै



Agar­Agar is obtained from­/ऐगार­ऐगार 猄냿ा㌄ होता ह­ै

Algae/ शवैाल से

Bryophyta/ 甄裿ायोफाइटा से

Angiosperm/ आवतृबीिजयो ंसे

Pteridophyta/ ट琄े裿रडोफाइटा से

Correct Answer :­Algae/ शवैाल स े

2)

Question Stimulus :­

Volkmann's Cannal is found in:/ वो퟿丄म냿礄स केनाल पाय ेजात ेह�:

Cartilage/ उपा甄냿洄थ म냿礄

Liver/ यकृत म냿礄

Bones/ अ甄냿洄थ म냿礄

Internal ear/ आतं琄裿रक कण� म냿礄

Correct Answer :­Bones/ अ甄냿洄थ म냿礄 

3)

Question Stimulus :­

Which of the following person is famous as father of green revolution in India?
/ भारत म냿礄 ह琄裿रत 팄ािंत के जनक िन퟿଄ म냿礄 स ेकौन ह�?

Indira Gandhi/ इिंदरा गाधँी

Sundar Lal bahuguna/ सुंदर लाल ब엿켄गणुा

M. S. Swaminathan/ एम. एस. 瘄裿ामीनाथन

None of these/इनम냿礄 स ेकोई नहीं

Correct Answer :­M. S. Swaminathan/ एम. एस. 瘄裿ामीनाथन 

4)

Question Stimulus :­



Which of the following has the maximum power of regeneration?/िन퟿଄ म냿礄 स ेिकसम냿礄
पनु�괄वन की 偌�मता सवा�िधकता होती ह?ै

Amoeba/ अमीबा

Obelia/ ओबिेलया

Planaria/ 億ने琄े裿रया

Ascaris/ ऐ伄琄裿रस

Correct Answer :­Planaria/ 億ने琄े裿रया 

5)

Question Stimulus :­

Which one is main factor of water pollution?/ जलीय 猄냿दूषण म냿礄 कौन­सा कारक मᐄु ह?ै

Smoke/ धआुँ

Soap/ साबनु

Industrial waste/ औ댄ोिगक अपिश끏俰

Ammonia/ अमोिनया

Correct Answer :­Industrial waste/ औ댄ोिगक अपिश끏俰 

6)

Question Stimulus :­

Eco RI is an example of?/ इको आरआई िकसका उदाहरण ह?ै

Specific place of restriction endonuclease/ रे甄냿各�ぎ翰न ए猄ोᄄ甄ू냿＃यजे के
िविश끏俰 洄थान

Endo nuclease/ ए猄ोᄄ甄ू냿＃यजे

Exo nuclease/ ए過翰ोᄄ甄ू냿＃यजे

RNA Polymerase/ आर.एन.ए. पॉलीमरेज

Correct Answer :­Endo nuclease/ ए猄ोᄄ甄ू냿＃यजे 

7)



Question Stimulus :­

Desmosome is:/ड焄े�ोसो퟿㔄 ह�:

Connecting Link of Cell Orgnelle/ कोिशकागंो के बीच सयंोजीकाय

Pigments/ वसा सं䀀ाहक कोिशकाय냿礄

Fat storage cells/ वण�क िप猄

None of these/ इनम냿礄 स ेकोई नहीं

Correct Answer :­Connecting Link of Cell Orgnelle/ कोिशकागंो के बीच सयंोजीकाय 

8)

Question Stimulus :­

Calcitonin regulates­/ कै琄ीटोिनन िनयमन करता ह­ै

Correct Answer :­  

9)

Question Stimulus :­

Hormone secreted by corpus luteum is­/काप�स 渄िूटयम 똄ारा 朄ािवत हॉम�न ह­ै

FSH

Estrogen/ए各�ोजने

LH

Progesterone/ 猄냿ोज各ेरेॉन

Correct Answer :­LH 

10)



Question Stimulus :­

Exchange of hereditary material between coupled chromatides of homologous
chromosome in meiosis is known as­/ अध�स搄ू惿ी िवभाजन के समय समजात गणुस搄ू惿ो ंके य甄ु냿☄त
팄ोमोिटडो ंके बीच आनवुािंशक पदाथ� का िविनमय कहलाता ह­ै

Synepsis/ िसन甄े냿各स

Quiasmeta/ ︃ाजमटेा

Transformation/ ट�ासंफोम냿稄शन

Crossing over/ 팄ॉिसगं ओवर

Correct Answer :­Crossing over/ 팄ॉिसगं ओवर 

11)

Question Stimulus :­

Pearl is produced by­/ पल� (मोती) बनाया जाता ह­ै

Mytilus/ माइिटलस 똄ारा

Pinctada/ िपकंटाडा 똄ारा

Pecten/ पकेटने 똄ारा

Unio/ यिूनयो 똄ारा

Correct Answer :­Pinctada/ िपकंटाडा 똄ारा 

12)

Question Stimulus :­

Cell obtained from cancer tumour are called­/ क�सर 怄मूर स े猄냿ा㌄ कोिशकाएँ कहलाती ह­ै

Hybridoma/ हाइि甄裿डोमा

Myeloma/ मलेोमा

Monoclonal cells/ मोनो＃ोनल कोिशकाएँ

Lymphocytes/ िल各फोसाइटस्

Correct Answer :­Myeloma/ मलेोमा 



13)

Question Stimulus :­

Adams apple represents­/एड퟿㔄 ए㘄ल िन�िपत करता ह­ै

Thyroids cartilage of larynx/ कंठ की थायरॉइड उपा甄냿洄थ को

Cricoid of larynx/ कंठ की ि팄कॉइड उपा甄냿洄थ को

Arytenoid cartilage of larynx/ कंठ की एरीिटनोइड उपा甄냿洄थ को

All of these/ उपय�ु踄 सभी

Correct Answer :­Thyroids cartilage of larynx/ कंठ की थायरॉइड उपा甄냿洄थ को 

14)

Question Stimulus :­

The dental formula of an adult human is represented as­/ एक वय伄 मन㔄ु के द स搄ू惿
को 猄냿圄तु िकया जा सकता ह­ै

Correct Answer :­  

15)

Question Stimulus :­

Main function of Lysosome is:/ लाइसोसो퟿㔄 का मᐄु काय� ह­ै

Digestion/ पाचन

Multiplication/ ि똄गणुन

Translation/ ट�ा℄लशेन

None of these/ इनम냿礄 स ेकोई नहीं



None of these/ इनम냿礄 स ेकोई नहीं

Correct Answer :­Digestion/ पाचन 

16)

Question Stimulus :­

Humulin is a­/ हयमुिुलन ︃ा ह­ै

Form of chitin/ काइिटन का �प

Digestive ferment/ पाचक 猄냿िक砄

Human insulin/ मानव इ℄िुलन

Antibiotic/猄냿ितजिैवक

Correct Answer :­Human insulin/ मानव इ℄िुलन 

17)

Question Stimulus :­

Two species cannot live together in a niche. This law (theory) is called­/ दो
जाितया ँएक िनकेतन म냿礄 एक साथ नही ंरह सकती ह।ै यह िनयम (िसꘄातं) कहलाता ह­ै

Wein’s theory/ वीन िसꘄातं

Allen’s theory/ एिलन िसꘄातं

Gause’s theory/ गोज िसꘄातं

Mendel’s theory/ म猄ेल िसꘄातं

Correct Answer :­Gause’s theory/ गोज िसꘄातं 

18)

Question Stimulus :­

Primitive atmosphere of the earth is mixture of­/ प鸄ृी का आद� वायमुडंल िकस 猄냿कार के
गसैो ंका िम鐄裿ण था­

CH4

NH4



Water vapour/ जलवा⌄

None of these/इनम냿礄 स ेकोई नहीं

Correct Answer :­

None of these/इनम냿礄 स ेकोई नही ं

19)

Question Stimulus :­

Axis is differentiated from atlas by the­/ ए甄냿過翰स को एटलस स ेिवभिेदत करती है

Presence of Neural arch/ ᄄरूल चाप की उप甄냿洄थित

Absence of centrum/ स냿礄ट�म की अनपु甄냿洄थित

Presence of odontoid process/ ओडोॉइड 猄냿वध� की उप甄냿洄थित

All of these/ उपय�ु踄 सभी

Correct Answer :­Presence of odontoid process/ ओडोॉइड 猄냿वध� की उप甄냿洄थित 

20)

Question Stimulus :­

Which cell relates with neurons?/ कौन सी कोिशका ᄄरूासं स ेसबंिधत होती ह�?

Schwann cell/ 뜄ान कोिशका

Nissl’s granules/ िनिशल किणकाएँ

Dendroites/ डे�ाइटस

Axon hillock/ ए過翰ान िहलॉक

Correct Answer :­Schwann cell/ 뜄ान कोिशका 

21)

Question Stimulus :­

The pollutant which decreases the oxygen carrier capacity of blood is­/ र踄 की
ऑ過翰ीजन की 偌�मता को घटान ेवाला 猄냿दूषक ह­ै

CO



CO2

SO2

None of these/ इनम냿礄 स ेकोई नहीं

Correct Answer :­CO 

22)

Question Stimulus :­

The Non­ obstructive reproduction capability in any population is called­/ िकसी
समि끏俰 म냿礄 अबािधत जनन की 偌�मता को कहत ेह�­

Fertility/ उव�रता

Biotic potential/ जवै िवभव

Carying capability/ वहन 偌�मता 

Natality/ जင दर

Correct Answer :­Biotic potential/ जवै िवभव 

23)

Question Stimulus :­

Human placenta is­/ मानव 億सेेा ह­ै

Haemochorial / हीमोको琄裿रयल

Yolk sac/ योक सकै

Syndesmochorial/ िसनड焄े�ोका琄裿रयल

Haemoendothelial/ हीमोए猄ोथीिलयल

Correct Answer :­Haemochorial / हीमोको琄裿रयल 

24)

Question Stimulus :­

Sometime water blooms shows in lake due to­/ कभी­कभी झील म냿礄 वाटर ሄ؀퟿ू㔄 का पाया
जाना 猄냿दिश�त करता ह­ै



Decrease in nutrients/ पोषण की कमी

Excess of oxygen/ ऑ過翰ीजन की अिधकता

Decreasing oxygen/ ऑ過翰ीजन की कमी

Herbivorous are absent in lake/ झील म냿礄 शाकाहा琄裿रयो ंकी अनपु甄냿洄थित

Correct Answer :­Decreasing oxygen/ ऑ過翰ीजन की कमी 

25)

Question Stimulus :­

In human, embryo is protected in­/ मानव 瘄裿णू सरुि偌�त रहता ह­ै

Amniotic cavity/ एि퟿଄योिटक गहुा म냿礄

Peritoneal cavity/ परेीटोिनयल गहुा म냿礄

Allantois/ एलनटॉस म냿礄

Pleural cavity/ 億रूल गहुा म냿礄

Correct Answer :­Amniotic cavity/ एि퟿଄योिटक गहुा म냿礄 

26)

Question Stimulus :­

Plant classification of Linnaeus is­/ लीिनयस का पादप वग�करण ह­ै

Natural/ 猄냿ाकृितक

Phylogenetic/ वशंावली

Artificial/ कृि搄惿म

None of these/इनम냿礄 स ेकोई नहीं

Correct Answer :­Artificial/ कृि搄惿म 

27)

Question Stimulus :­

Pellagra is caused by deficiency of which vitamin?/ पलेा䀀ा रोग िकस िवटािमन की ᄄनूता
स ेहोता ह?ै



B1 (Thiamine)/(थायमीन)

D (Calciferol)/D (कै琄ीफेरोल)

Niacin (Nicotinic acid)/ नायिसन (िनकोिटिनक अ쫿┄)

B12 (Cyanocobalamine)/ B12/ (सायनोकोबालामीन)

Correct Answer :­Niacin (Nicotinic acid)/ नायिसन (िनकोिटिनक अ쫿┄) 

28)

Question Stimulus :­

DNA synthesis is known as­/डीएनए सं됄षेण को कहत ेह�­

Conversion/ �पातंरण

Endorsement/ अनलुखेन

Rotation/ प琄裿र팄मण

Replication/ 瘄裿猄냿ितकरण

Correct Answer :­Replication/ 瘄裿猄냿ितकरण 

29)

Question Stimulus :­

An autoimmune disease is–/ 瘄裿猄냿ितरि偌�त रोग ह­ै

AIDS/ एडस्

Asthma/ अ洄थमा

Haemophilia/ हीमोफीिलया

Mysthaenia gravis/ माय洄थिेनया 䀀िेवस

Correct Answer :­Mysthaenia gravis/ माय洄थिेनया 䀀िेवस 

30)

Question Stimulus :­

Eutrophication is located in­/ सपुोषण िन퟿଄ म냿礄 दखेा जा सकता ह­ै



In the minerals of soil/ लवणीय मदृा म냿礄

In Pond/ झील म냿礄

In Desert/ म�洄थल म냿礄

In agricultural field/ कृिष 偌�搄े惿ो ंम냿礄

Correct Answer :­In Pond/ झील म냿礄 

Topic:­ General English
1)

Question Stimulus :­

Out of the four words given below, find the word which is an antonym of
‘benevolent’?

kind

unkind

good­natured

big­hearted

Correct Answer :­unkind 

2)

Question Stimulus :­

Fill in the blank with the correct option.

Neither the lion nor the Bears ______ escaped from the zoo.

has

have

were

are

Correct Answer :­have 

3)

Question Stimulus :­



Out of the four sentences given below, which is the correct indirect speech of
the sentence?

He said, “Alas! I have broken my brother’s watch”

He exclaimed happily that he has broken his brother’s watch.

He exclaimed sorrowfully that he has broken his brother’s watch.

He exclaimed sorrowfully that he had broken his brother’s watch.

He exclaimed sorrowfully that he broke his brother’s watch.

Correct Answer :­He exclaimed sorrowfully that he had broken his brother’s watch. 

4)

Question Stimulus :­

Choose the correct article to fill in the given blank.

Music is often thought of as _______universal language.

an

a

the

No article required

Correct Answer :­a 

5)

Question Stimulus :­

Fill in the blank with the correct option.

Shimla is ______ most other hill stations in India.

by far the

famous than

more famous than

the more famous than

Correct Answer :­more famous than 



6)

Question Stimulus :­

Out of the four sentences given below, which is the correct indirect speech of
the sentence?

Angel said, “I bought a pen yesterday”.

Angel said that she bought a pen yesterday.

Angel said that she bought a pen the day before.

Angel said that she had bought a pen yesterday.

Angel said that she had bought a pen the day before.

Correct Answer :­Angel said that she had bought a pen the day before. 

7)

Question Stimulus :­

Choose the correct article to fill in the given blank.

He is ______ one­eyed person.

a

an

the

No article required

Correct Answer :­a 

8)

Question Stimulus :­

Fill in the blank with the correct option.

When I was younger I ______stay up all night and not get tired.

can

could

may

cannot



Correct Answer :­could 

9)

Question Stimulus :­

Fill in the blank with the correct option.

The meeting ________due to lack of quorum.

postponed

has been postponed

was getting postponed

get postpone

Correct Answer :­has been postponed 

10)

Question Stimulus :­

Out of the four sentences given below, which is the correct passive voice of the
sentence?

She was writing letters.

Letters was being written by her.

Letters were being written by her.

Letters had been written by her.

Letters have been written by her.

Correct Answer :­Letters were being written by her. 

11)

Question Stimulus :­

Out of the four words given below, find the word which is not correctly spelt?

Business.

Committe.

Foreign.



Necessary.

Correct Answer :­Committe. 

12)

Question Stimulus :­

What is the meaning of the prefix ‘poly’ in the word ‘polygamy’?

one

double

many

variety

Correct Answer :­many 

13)

Question Stimulus :­

Out of the four sentences given below, find the sentence which is
grammatically correct?

The Prime Minister and President of the party are on a visit to the town today.

The Prime Minister and President of the party is on a visit to the town today.

The Prime Minister and The President is on a visit to the town today.

Prime Minister and The President are on a visit to the town today.

Correct Answer :­The Prime Minister and President of the party is on a visit to the town
today. 

14)

Question Stimulus :­

Fill in the blank with the correct phrasal verb.

Fathers are beginning to play a bigger role in ______ their children.

bringing up

bringing round

bringing about



bringing out

Correct Answer :­bringing up 

15)

Question Stimulus :­

Fill in the blank with the correct preposition.

The old man was crushed ______ the car.

from

with

under

above

Correct Answer :­under 

16)

Question Stimulus :­

Out of the four words given below, find the word which is not correctly spelt?

Achieve.

Across.

Appearance.

Embarras.

Correct Answer :­Embarras. 

17)

Question Stimulus :­

Fill in the blank with the correct preposition.

He would think it ______ him to do such a small work.

behind

beneath

beyond



beside

Correct Answer :­beneath 

18)

Question Stimulus :­

What is the meaning of the suffix ‘dom’ in the word ‘freedom’?

condition

position held

place or state of being

become

Correct Answer :­place or state of being 

19)

Question Stimulus :­

Fill in the blank with the correct option.

Swimming in the ocean and playing drums _____ my hobbies.

is

are

was

were

Correct Answer :­are 

20)

Question Stimulus :­

Out of the four sentences given below, which is the correct active voice of the
sentence?

By whom were you given these orders?

Who gave you these orders?

Who had given you these orders?



Who gives you these orders?

Whose orders are these?

Correct Answer :­Who gave you these orders? 

21)

Question Stimulus :­

Fill in the blank with the correct option.

The eldest brother _______ the family since his father passed away.

supported

has supported

has been supporting

have been supporting

Correct Answer :­has been supporting 

22)

Question Stimulus :­

Out of the four sentences given below, find the sentence which is
grammatically correct?

Each boy and each girl were given a book.

Each boy and each girl was given a book.

Each boy and each girl are given a book.

Each boy and each girl have given a book.

Correct Answer :­Each boy and each girl was given a book. 

23)

Question Stimulus :­

Fill in the blank with the correct option.

You ____ always check the oil, water and tyres before taking your car on a long trip.

can



should

would

could

Correct Answer :­should 

24)

Question Stimulus :­

Fill in the blank with the correct phrasal verb.

Our car _______ at the side of the highway in the snowstorm.

broke aside

broke down

broke into

broke out

Correct Answer :­broke down 

25)

Question Stimulus :­

Out of the four words given below, find the word which is an antonym of
‘rustic’?

metallic

pastoral

rural

urban

Correct Answer :­urban 

Topic:­ Reading Comprehension
1)

Question Stimulus :­

The waters of the Yamuna were roaring and had flooded the village of Tekri. The village was
almost  submerged  in  water.  The  river  had  broken  her  banks  and  entered  the  village.  Two
bridges, one concrete and one wooden, connected the villages of Tekri and Belapur. Seeing the



destruction, all  the people rushed with their belongings,  including cattle,  to cross the bridges
and reach the other village for safety. The mad rush caused a stampede. The load became too
heavy  and  the  pillar  of  the  concrete  bridge  collapsed.  The  bridge  caved  in  from  the  center.
Although I was standing still, I soon found myself thrown off my feet. My shirt got entangled in
a shaft and I hung upside down. Soon the army helicopters arrived and took me and others to
safety.

Out of the given options what could be the best title for the given passage?

Flooding village.

A lucky escape.

Submerged town.

Large scale destruction.

Correct Answer :­A lucky escape. 

2)

Question Stimulus :­

The waters of the Yamuna were roaring and had flooded the village of Tekri. The village was
almost  submerged  in  water.  The  river  had  broken  her  banks  and  entered  the  village.  Two
bridges, one concrete and one wooden, connected the villages of Tekri and Belapur. Seeing the
destruction, all  the people rushed with their belongings,  including cattle,  to cross the bridges
and reach the other village for safety. The mad rush caused a stampede. The load became too
heavy  and  the  pillar  of  the  concrete  bridge  collapsed.  The  bridge  caved  in  from  the  center.
Although I was standing still, I soon found myself thrown off my feet. My shirt got entangled in
a shaft and I hung upside down. Soon the army helicopters arrived and took me and others to
safety.

What does the word ‘stampede’ mean in the passage?

A situation in which people attack each other verbally.

A situation in which people start hitting each other with whatever they have in hand.

A situation in which people start running in a very fast and uncontrolled way because of
fear or excitement.

None of the above.

Correct Answer :­A situation in which people start running in a very fast and uncontrolled
way because of fear or excitement. 

3)

Question Stimulus :­

The waters of the Yamuna were roaring and had flooded the village of Tekri. The village was
almost  submerged  in  water.  The  river  had  broken  her  banks  and  entered  the  village.  Two
bridges, one concrete and one wooden, connected the villages of Tekri and Belapur. Seeing the



destruction, all  the people rushed with their belongings,  including cattle,  to cross the bridges
and reach the other village for safety. The mad rush caused a stampede. The load became too
heavy  and  the  pillar  of  the  concrete  bridge  collapsed.  The  bridge  caved  in  from  the  center.
Although I was standing still, I soon found myself thrown off my feet. My shirt got entangled in
a shaft and I hung upside down. Soon the army helicopters arrived and took me and others to
safety.

What does the word ‘roaring’ suggest in the passage?

thundering.

flowing.

murmuring.

still.

Correct Answer :­thundering. 

4)

Question Stimulus :­

The waters of the Yamuna were roaring and had flooded the village of Tekri. The village was
almost  submerged  in  water.  The  river  had  broken  her  banks  and  entered  the  village.  Two
bridges, one concrete and one wooden, connected the villages of Tekri and Belapur. Seeing the
destruction, all  the people rushed with their belongings,  including cattle,  to cross the bridges
and reach the other village for safety. The mad rush caused a stampede. The load became too
heavy  and  the  pillar  of  the  concrete  bridge  collapsed.  The  bridge  caved  in  from  the  center.
Although I was standing still, I soon found myself thrown off my feet. My shirt got entangled in
a shaft and I hung upside down. Soon the army helicopters arrived and took me and others to
safety.

What does the expression ‘caved in’ suggest?

Collapsed.

supported.

weighed.

strengthened.

Correct Answer :­Collapsed. 

5)

Question Stimulus :­

The waters of the Yamuna were roaring and had flooded the village of Tekri. The village was
almost  submerged  in  water.  The  river  had  broken  her  banks  and  entered  the  village.  Two
bridges, one concrete and one wooden, connected the villages of Tekri and Belapur. Seeing the
destruction, all  the people rushed with their belongings,  including cattle,  to cross the bridges
and reach the other village for safety. The mad rush caused a stampede. The load became too



heavy  and  the  pillar  of  the  concrete  bridge  collapsed.  The  bridge  caved  in  from  the  center.
Although I was standing still, I soon found myself thrown off my feet. My shirt got entangled in
a shaft and I hung upside down. Soon the army helicopters arrived and took me and others to
safety.

How was the author saved from drowning into the river?

The villagers saved him.

His shirt got caught in a stick.

His shirt was torn.

His companions lifted him on their shoulders.

Correct Answer :­His shirt got caught in a stick. 


